19

EP00450 /L

*Used with light controller

Material
No. Plan Article Quantity
1 Armrest right 1913465 1
Armrest left 1913464 1
2 YP09265 2642654 2
3 - -
4 - - -
5 M6x16 1SO7380 2994067 2
6 M6 DIN986 2994059 6
7 - - -
8 - - -
9 - -
10 - - -
11 - - -
12 YP07839 2783154 4
13 M5 DIN985 2994006 8
14 M6x45 DIN912 2994058 4
15 M5x20 DIN912 1915452 8
16* M4x12 2994126 2
17* Washer M4 DIN127B 1998515 2
18* Light controller 1921014 1
19 X005565 1912287 2
20 - - -
21 YPO7841 2783254 1
| * YP07833 2782754 1
22 Linx DLX REM 050 1909020 1
Linx DLX REM 060 1910700 1
Linx SE19 SE39 1912296 1
Linx SE39 1912301 1
Linx SE19 ACT5 1912305 1
Linx LCD +JOYST 1913523 1
23 YP07842 2783354 2
24 M5x12 DIN912/8.8 1001489 2
25 - - -
26 Mbx16 1907493 8
27 XP03080 2996656 2
Plan No.
BI5 TYPE SQUOD/ TURIOS 12 | EPooaso/L
Scale: 1:5 Drafted Verified Confirmed
Date 13/09/2019 | 27/03/2025 | 27/03/2025
Initials DB DR MK




EP00450 /L

*Used with light controller

Bill of Material 1913465/1913464
No. Plan Article Quantity
1a X005567 1912286 (R) 1
X005566 1912285 (L) 1
1b X005517 2014999 1
1c X005519 1911778 1
1d X005561 2021699 1
1e M5x16 1007198 2
1f Rivet @4 1992805 2
19 M5x16 3991136 2
1h Washer M5 1906561 2
1i Sticker T001002 1
Plan No.
BI5 TYPE SQUOD/ TURIOS
2/2 EP00450/ L
Scale: 1:5 Drafted Verified Confirmed \\\V/’/’
Date 13/09/2019 | 27/03/2025 | 27/03/2025 u
Initials DB DR MK 000




